#20A51-HAND TOOLS

Iltem

MM #

DESCRIPTION

[

107245

CASTER,SWIVEL,RUBBER,3"

107246

CASTER,RIGID,RUBBER,3"

107248

CASTER,SWIVEL,RUBBER,4"

107250

CASTER,SWIVEL,RUBBER,5"

107252

CASTER,SWIVEL,RUBBER,6"

107253

CASTER,RIGID,RUBBER,6"

107254

CASTER,SWIVEL,RUBBER,8"

107255

CASTER,RIGID,RUBBER,8"

(Vo Noo Nl L NN N | NOL I Q=N JUSR § V)

107256

CASTER,WHEEL ONLY,RUBBER,4"

=
o

107449

HOOK,GRAB,CLEVIS,1/4"

[EEY
[

112549

WHEELBARROW,6 CU.FT,16"PNEUMATIC TIRE

=
N

112667

BAR,WRECKING,CARPENTER,18"

[
w

112668

BAR,WRECKING,CARPENTER,24"

=
S

112669

BAR,WRECKING,CARPENTER,36"

[
2]

112670

BAR,CROW,PINCHPOINT,7/8"X36"

=
[e)]

112671

BAR,CROW,PINCHPOINT,1-1/4"X60"

[EY
~N

112672

BAR,PRY,1-3/8"X12-1/2"

[EEN
0o

112673

BEVEL,8"BLADE,5-1/2"HANDLE

[EY
Y]

112743

BIT,SCREWDRIVER,1/4"HEX INSERT,#1 PHIL

N
o

112744

BIT,SCREWDRIVER,1/4"HEX INSERT,#2 PHIL

N
=

112745

BIT,SCREWDRIVER,1/4"HEX INSERT,#3 PHIL

N
N

112746

BIT,SCREWDRIVER,W/FINDER F/6F-8R SLT.SCR

N
w

112774

BLADE,BAND SAW,ARNTZ,14'6"X 1",6/10TP!I

N
N

112777

BLADE,BAND SAW,MARVEL,12'1"X 1",14TPI

N
(9]

112779

BLADE,CIRCULAR SAW,7-1/4"DIA,24 TOOTH

N
(e)]

112781

BLADE,PORT.BAND SAW,10T,CUT 5/16"&UP

N
~

112782

BLADE,PORT.BAND SAW,14T,CUT 3/16"-5/16"

N
(o]

112783

BLADE,PORT.BAND SAW,18T,CUT 5/32"-3/16"

N
(o]

112784

BLADE,PORT.BAND SAW,24T,CUT UP TO 5/32"

w
o

112791

BLADE,JIGSAW,10TPI1,0.28"HX4"L,WOOD

w
=

112792

BLADE,JIGSAW,12TPI1,0.30"HX4"L,WOOD

w
N

112795

BLADE,JIGSAW,14TPI,0.37"HX3-1/4"L,CARB

w
w

112796

BLADE,JIGSAW,8TPI,0.36"HX5-1/4"L,WOOD

w
N

112804

BLADE,HACKSAW,POWER,10T,18"LX1-1/4"

w
U

112807

BLADE,CUTTING,UTILITY,HEAVY-DUTY,5/PK

w
(e)]

112809

BLADE,ALLPAX,F/ALLPAX #3 GASKET CUTTER

w
~N

112810

BLADE,SAWZALL,WOOD,6T,6",STRAIGHT BACK

w
(o]

112821

BLADE,SAWZALL,14T,6", METAL,3/16"-1/4"

w
(Vo]

112822

BLADE,SAWZALL,18T,6",METAL,1/8-3/16"

IS
o

112824

BLADE,SAWZALL,WOOD,6T,9", TAPER BACK

o
AN

112825

BLADE,SAWZALL,WOOD,6T,12", TAPER BACK

o
()

112827

BLADE,SAWZALL,GENERAL PURPOSE,10/14T,8"

N
w

112864

CHALK,SNAP LINE REFILL,BLUE,4 OZ

o
S

112866

CHALK,SNAP LINE REFILL,RED,4 OZ

N
¢

112926

TIP CLEANER,12PC DRILL KIT,#52 THRU 74




46

112938

CUTTER,TUBE,MIDGET,1/4" TO 1-1/8"

47

112939

CUTTER,TUBE,HI-DUTY,1/8" TO 1-1/8"

48

112940

CUTTER,TUBE,ADJUST-O-MATIC,1/4"TO 2-3/8"

49

112952

TIP,CUTTING,TORCH,F/1/2"METAL,#0-1-101

50

112954

TIP,CUTTING,TORCH,F/3/4"METAL,#1-1-101

51

112955

TIP,CUTTING,TORCH,F/1"METAL,#2-3-101

52

112956

TIP,CUTTING,TORCH,F/1-1/2"METAL,#2-1-101

53

112957

TIP,CUTTING,TORCH,F/2"METAL,#3-3-101

54

112958

TIP,CUTTING,TORCH,F/3"METAL,#4-3-101

55

113212

DRIVER,NUT,10/PC SET,3/16" TO 9/16"

56

113213

DRIVER,NUT,METRIC,7/PC SET

57

113214

DRIVER,NUT,POWER BIT,MAGNETIC,1/4"

58

113215

DRIVER,NUT,POWER BIT,MAGNETIC,5/16"

59

113216

DRIVER,NUT,POWER BIT,MAGNETIC,3/8"

60

113217

DRIVER,NUT,ND-108,1/4" 6 PT

61

113218

DRIVER,NUT,ND-109,9/32" 6 PT

62

113219

DRIVER,NUT,ND-110,5/16" 6 PT

63

113220

DRIVER,NUT,ND-111,11/32" 6 PT

64

113221

DRIVER,NUT,ND-112,3/8" 6 PT

65

113222

DRIVER,NUT,ND-114,7/16" 6 PT

66

113223

DRIVER,NUT,ND-116,1/2" 6 PT

67

113224

DRIVER,NUT,ND-118,9/16" 6 PT

68

113225

DRIVER,NUT,ND-120,5/8" 6 PT

69

113292

FORK,MANURE,FORGED,4-TINE,12-1/2"

70

113296

FRAME,HACKSAW,HVY DUTY,W/BLADE STORG,12"

71

113302

GUN,CAULKING,HALF BARREL,DROP-IN

72

113310

HAMMER,BALL PEIN,1/2 LB,10"TO 12-1/2"

73

113311

HAMMER,BALL PEIN,1 LB,10"OR 14"

74

113313

HAMMER,BALL PEIN,2 LB,14"OR 16"

75

113316

HAMMER,SF-3 SOFT HEAD,W/RUBBER GRIP,3LB

76

113317

HAMMER,CURVE CLAW,RUBBER HANDLE,16 OZ

77

113318

HAMMER,RIP CLAW,FIBERGLASS HANDLE,16 OZ

78

113319

HAMMER,SCALING,CHISEL & CROSS CHISEL

79

113320

HAMMER,ENGINEER,2 FACE,48 OZ

80

113321

HAMMER,SLEDGE,2 FACE,4LB

81

113323

HAMMER,SLEDGE,2 FACE,W/HANDLE,H-8-H,8LB

82

113324

HAMMER,SLEDGE,2 FACE,W/HANDLE,H-10-H,10#

83

113327

HANDLE,FILE,LONG FERRULE,1-3/16"X4-1/2"L

84

113328

HANDLE,FILE,LONG FERRULE,1-5/16"X 5"L

85

113329

HANDLE,FILE,LONG FERRULE,1-7/16"X5-1/2"L

86

113330

HANDLE,FILE,LONG FERRULE,1-9/16"X 6"L

87

113333

HANDLE,HAMMER,BALL PEIN,12"

88

113334

HANDLE,HAMMER,BALL PEIN,14"

89

113335

HANDLE,HAMMER,BALL PEIN,16"

90

113336

HANDLE,HAMMER,BALL PEIN, 18"

91

113337

HANDLE,HAMMER,BALL PEIN,20"

92

113339

HANDLE,HAMMER,NAIL TYPE,14"




93

113340

HANDLE,HAMMER,NAIL TYPE,16"

94

113341

HANDLE,HAMMER,SLEDGE,30"

95

113342

HANDLE,HAMMER,SLEDGE,36"

96

113353

HOE,MORTAR,PERFORATED,7"X4-1/4"

97

113356

HOOK,PACKING,FLEXIBLE,7-1/2"

98

113357

HOOK,PACKING,FLEXIBLE,10-5/8"

99

113358

HOOK,PACKING,FLEXIBLE,15"

100

113359

HOOK,PACKING,FLEXIBLE,22"

101

113360

HOOK,MANURE,4-TINE,8-1/2"

102

113361

HOOK,HEAVY,POTATO/REFUSE,4-TINE,7"

103

113362

KNIFE,PUTTY,STIFF BLADE,1-1/4"

104

113363

KNIFE,RUBBER,SQUARE POINT

105

113364

KNIFE,SAFETY,W/RETRACTABLE BLADE

106

113367

LEVEL,TORPEDO,DIE CAST ALUM,TOP READ,9"

107

113369

LEVEL,CARPENTER,W/45 DEG VIAL,24"

108

113370

LIGHTER,FRICTION,SPARK,ROUND FILE TYPE

109

113371

FLINT,RENEWAL,FOR SPARK LIGHTER

110

113373

MALLET,#8 CHGO RAWHIDE,LOADED,CUSHIONED

111

113375

MALLET,RUBBER,#RM-3,2-9/16"X4-3/8"

112

113388

MARKER,PAINT,VALVE ACTION,YELLOW

113

113389

MARKER,PAINT,VALVE ACTION,RED

114

113390

MARKER,PAINT,VALVE ACTION,BLACK

115

113399

PLANE,BLOCK,6"LENGTH,CUTTER,1-5/8"

116

113411

PLIERS,RETAINING RING,STRAIGHT,5-3/4"

117

113412

PLIERS,RETAINING RING,STRAIGHT,7.75"

118

113415

PLIERS,SIDE CUTTER,DIPPED HANDLES,9"

119

113416

PLIERS,SIDE CUTTER,W/FISH TAPE PULL GRIP

120

113417

PLIERS,END CUTTING

121

113418

PLIERS,DIAGONAL CUTTING W/ANGLE HEAD

122

113419

PLIERS,LONG NOSE,NEEDLE,6"

123

113420

PLIERS,LONGNOSE,W/SIDE CUT & STRIP NOTCH

124

113421

PLIERS,STRAIGHT NOSE,SLIP-JOINT,THIN

125

113422

PLIERS,LONG NOSE,7"

126

113424

PLIERS,PUMP,9-1/2"

127

113425

PLIERS,PUMP,12"

128

113426

PLIERS,BUTTON NOSE,FENCE TOOL,10"

129

113427

PLIERS,DIAGONAL CUTTING,SEMI-FLUSH

130

113428

PLIERS,WIRE STRIPPER CUTTER

131

113429

TOOL,CRIMPING,FOR 10-22 AWG

132

113447

RAKE,FLEXIBLE STEEL,22 TEETH,LONG HANDLE

133

113448

RAKE,STEEL,14-16 TEETH,LONG HANDLE

134

113449

REEL,CHALK LINE,100'

135

113452

RULE,FOLDING WOOD,W/SLIDE EXT. & HOOK,6'

136

113453

RULE,FOLDING WOOD,ENGINEER'S,6'

137

113454

RULE, TAPE,METAL,POWERLOCK,3/4"X16'

138

113455

RULE, TAPE,METAL,POWERLOCK,1"X25'

139

113456

RULE,TAPE,SHOWS FT,IN. & EIGHTHS,50'L




140

113457

RULE, TAPE,SHOWS FT,IN,& EIGHTHS,100'L

141

113458

RULE,FOLDING WOOD,INSIDE MARKINGS,6'

142

113459

SAW,COPING,5"DEEP,6-1/2"LENGTH

143

113460

BLADE,ROD SAW,CARBIDE,GRIT EDGE

144

113462

SAW,CROSSCUT,HAND,22",7-8 TPI

145

113463

SAW,CROSSCUT,HAND,20",11-12 TPI

146

113508

DIGGER,POST HOLE,6'HANDLE

147

113509

SCRAPER,WOOD,RED DEVIL #3050

148

113514

SCRAPER,TAPING KNIFE,FLEXIBLE BLADE,6"

149

113515

SCRAPER,WALL,FLEXIBLE BLADE,3"

150

113516

SCRAPER,ICE,5"X7"

151

113517

SCRAPER,WALL,STIFF BLADE,3"

152

113519

SCREWDRIVER,SLOTTED,SCREW HOLDING,6"

153

113520

SCREWDRIVER,SLOTTED,FLAT BLADE,2 PT,3"

154

113521

HOLDER,BIT,MAGNETIC,F/1/4"HX INSERT,3"L

155

113522

SCREWDRIVER,PHIL,#0 PT,F/#2+SMALLER,5"L

156

113523

SCREWDRIVER,PHIL,#1 PT,F/#2-#4 SCRW,6"L

157

113524

SCREWDRIVER,PHIL,#2PT,F/#5-9 SCRW,7-3/4"

158

113525

SCREWDRIVER,PHIL,#3PT,F/#10-16SCRW,10.5"

159

113526

SCREWDRIVER,PHIL,#4PT,F/#10-UP SCRW,10"L

160

113527

SCREWDRIVER,PHIL,#2PT,F/#5-9 SCRW,1.5"L

161

113528

SCREWDRIVER SET,JEWELER'S

162

113532

SCREWDRIVER,STD.TIP,1/4"X4"BLADE,7-3/4L

163

113533

SCREWDRIVER,STD.TIP,6"FLAT BLADE

164

113534

SCREWDRIVER,STD.TIP,3/8X8"BLADE,13"L

165

113535

SCREWDRIVER,STD.TIP,3/8X12"BLADE,17-1/2L

166

113536

SCREWDRIVER,STD.TIP,1/4"BLADE,3-3/8"L

167

113537

SCREWDRIVER,SLOTTED,SCREW HOLDING,4"

168

113544

PROPANE GAS,TORCH TANK,14.1 OZ CYLINDER

169

113556

SHOVEL,ROUND NOSE,47"L HANDLE

170

113557

SHOVEL,ROUND NOSE,SHORT HANDLE

171

113558

SHOVEL,SQUARE NOSE,LONG HANDLE

172

113559

SHOVEL,SQUARE NOSE,SHORT HANDLE

173

113560

SHOVEL,COAL SCOOP,#8,27-30"HANDLE

174

113563

PUSHER,SNOW,ALUMINUM,24"X12"

175

113564

SHOVEL,SNOW,ALUMINUM,18",D-GRIP

176

113566

SHEARS,UTILITY,HEAVY DUTY,8"

177

113567

SNIPS,METAL CUTTING,LEFT CUT,VINYL GRIP

178

113568

SNIPS,METAL CUTTING,RIGHT CUT,VINYL GRIP

179

113569

SNIPS,METAL CUTTING,STRGT CUT,VINYL GRIP

180

113571

SHOVEL,DRAIN SPADE,5-1/2"X16"BLADE

181

113572

SQUARE,TRY,PROFESSIONAL,8"X1-1/2"

182

113573

SQUARE,COMBINATION,W/LEVEL+GLASS,12"

183

113574

SQUARE,CARPENTER,2"TONGUE,24"BODY

184

113575

SQUARE,SPEED,CARPENTER,STANLEY #46-067

185

113634

WRENCH SET,HEX KEY,ALLEN,9PC,5/64"-3/8"

186

113637

WRENCH SET,HEX KEY,ALLEN,20PC,.028-.750"




187

113642

TORCH,PROPANE,SELF-IGNITE/AUTO-EXTIGUISH

188

113647

WEDGE,TOOL,5/32"X13/16"X7/16"#4,#8004

189

113649

HAMMER,WELDING,W/CONE & CHISEL HEAD, T-20

190

113677

WRENCH,ADJUSTABLE,STANDARD,4"

191

113678

WRENCH,ADJUSTABLE,STANDARD,6"

192

113679

WRENCH,ADJUSTABLE,STANDARD,8"

193

113680

WRENCH,ADJUSTABLE,STANDARD, 10"

194

113681

WRENCH,ADJUSTABLE,STANDARD, 12"

195

113682

WRENCH,ADJUSTABLE,STANDARD, 15"

196

113683

WRENCH,ADJUSTABLE,STANDARD, 18"

197

113684

WRENCH,PIPE,CHAIN,RIDGID #31315

198

113690

WRENCH,FIRE HYDRANT,W/1.5"X2.5"SPANNER

199

113692

WRENCH,BASIN,10"-17",RIDGID #31175

200

113693

WRENCH SET,COMB.,6 PT.,8-10 PC,TO 7/16"

201

113695

WRENCH,STRAP,1-1/8"X17"

202

113711

HOOK JAW,F/14"WRENCH,RIDGID #E-566

203

113730

WRENCH,PIPE,ADJUSTABLE,6",RIDGID #31000

204

113731

WRENCH,PIPE,ADJUSTABLE,8",RIDGID #31005

205

113732

WRENCH,PIPE,ADJUSTABLE,10",RIDGID #31010

206

113733

WRENCH,PIPE,ADJUSTABLE,12",RIDGID #31015

207

113734

WRENCH,PIPE,ADJUSTABLE,14",RIDGID #31020

208

113735

WRENCH,PIPE,ADJUSTABLE,18",RIDGID #31025

209

113736

WRENCH,PIPE,ADJUSTABLE,24",RIDGID #31030

210

113744

WRENCH, TAP,T HANDLE, TAP SIZE 1/16"-1/4"

211

113745

WRENCH,TAP, T HANDLE,TAP SIZE 5/32"-1/2"

212

113747

WRENCH,VISE GRIP,7",VISE-GRIP #7R

213

113748

WRENCH,VISE GRIP,SH.METAL CLAMP,8" #8R

214

113749

WRENCH,VISE GRIP,10",VISE GRIP #10R

215

114234

SCREWDRIVER,CABINET TIP,3/16"X5-3/4",9"L

216

114264

BLADE,JIGSAW,11-14TPI,0.30"H X3-5/8"L,M

217

114265

BLADE,JIGSAW,8TPI,0.30"H X 4"L,METAL

218

114267

BLADE,JIGSAW,20TP1,0.17"H X 3-1/4"L,WO0

219

114268

BLADE,JIGSAW,14-18TPI1,0.30"H X 3-5/8"L,M

220

115817

BLADE,SAWZALL,DEMOLITION,WOOD,5/8T,9"

221

115818

BLADE,SAWZALL,DEMOLITION,METAL,14T,9"

222

115819

BLADE,SAWZALL,WOOD SCROLL,4/6T,6"TAPER

223

115820

BLADE,SAWZALL,18T,8",METAL 1/8"-3/16"

224

115821

BLADE,SAWZALL,GENERAL PURPOSE,10T,6"

225

115834

BLADE,SAWZALL,METAL SCROLL,18T,3-5/8"

226

115835

BLADE,SAWZALL,WOOD SCROLL,10T,3-5/8"

227

115836

BLADE,SAWZALL,METAL SCROLL,14T,3-5/8"

228

115837

BLADE,SAWZALL,14T,4", METAL 3/16-1/4"

229

115838

BLADE,SAWZALL,24T,6", METAL UP TO 1/8"

230

115839

BLADE,SAWZALL,18T,4",METAL 1/8"-3/16"

231

118495

BLADE,HACKSAW,POWER,14T,12"LX1/2",PK10

232

118496

BLADE,HACKSAW,POWER,18T,12"LX1/2",PK10

233

118497

BLADE,HACKSAW,POWER,24T,12"LX1/2",PK10




| 234 |118498|BLADE,HACKSAW,POWER,32T,12"LX1/2",PK10




